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1% Part. SWIFT-15 Questions

- ®
. SR
Which of the following is not equal to the unit of the  F(A) el BLyeSIl Ll B (el Bumg (Solun Y (b las gl_
electric current Ampere(A)? 5 "ﬁ

N.m.T1 C N.m L1t A

c.s™t D kg.s~2.T1 B
RSO
g
= 2 o

The quantity of charge g (in coulombs) that has yﬁﬁlﬁﬂ cm? Aialus s e adaie JA el AY g 4alll a8 i
passed through a surface of area 2.00 cm? varies e e8I g g SNAIL S F Cua g =48 + 5F + 6 Aalaall 38
with time according to the equation g = 43 + 5t + 6, $f =1.00 s Aaalll vie i jall adadall yie g83ial) jlall jlaia L (1)
where £ is in seconds. (1) What is the instantaneous § £=1.00 silaalll xie Ll 8BS Hlsia La (2)
current through the surface at £ = 1.00 s? (2) What
is the value of the current density?

J = 7.5 x 10* A/m? i=15.04

J=17.5 A/m? i=15.0A4 C A
] =8.5 A/m? i=17.04 D J =8.5x10* A/m? i=17.04 B
A 0.900-V potential difference is maintained across a | 4alue4l31.50-m 4l sk pfiwail dlls e 0.900-V ¢ 34 ik
1.50-m length of tungsten wire that has a cross- M& felld) (8 Jlad) Ll e 0.600 mm? 4islus o je gl
sectional area of 0.600 mm?2. What is the current in the |~— (pw = 5.6 x 1078 Q.m)
wire?
(pw = 5.6 x 1078 Q.m)
6.43 x 103 A c 6.43 A A
1.56 x 10% 4 D 0.156 A B

Teacher: Omar Alkhatib \ 050 38 333 27 (12 Advanced) DEMO TEST-2" TERM.
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q(t) = 6.0 x 107%(1 — e~ t/01)

What is the value of capacitance and resistance in this circuit?

[ETEE
o 4 e
In the circuit shown in the figure, how much electric oda § B3l QLS L Hlade Lo (K& § duradl 85101 §
current flows in this circuit? 4 €8,51J1
i}
R =50
N
10V°
' R, 7£1§
AYAYAA WEN—
R.=80
14 c 204 A
104 D 0.54 B
B 5
A light bulb is rated at 30 W when operated at o0l8e g 3k dbia g die 5 ) S AL e B0 W glias 220
g . 120V
What is its resistance? S diaglie ylude Lo
7.50 c 3600 O A
480 O D 40 B
oR ]
e
B 6
An RC circuit consisting of (12. 0 V) battery. The charge ool Ay IS CaiSal) D Jaas (12,0 V) Uy $535RC 85515
on the capacitor as function of time is given by: LI AW Dolaadl 399
P Z 4 =/ q®) = 6.0 x 107*(1 — e~¥/1)

851 0 (3 doglially dall (o 5 lkEa la

1.39 kQ 72 uF

0.167 kQ 600 uF

(@]

A

2 kQ 50 uF

1.67 kQ) 60 uF

B

Teacher: Omar Alkhatib \ 050 38 333 27
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4|i.\.i..a

A (12 V)battery with internal resistance (R; = 0.2(0)is (R; = 0.20) &d515 daglas widg(12 V) g dyllay cuimd
being charged by a battery charger that is capable of - (6 A) oyldis HLd Juogd (de 1018 dyyllay o>Lio
delivering a current of magnitude (6 A). Ol W pdgl djlladl oli (e o Al yeS dadls 545 31 Lo
What is the minimum emf the battery charger must Sayladl el (0
supply to be able to charge the battery?
b
* -—
N
R, M;ﬂ;_
Ak I
v, V,
12.0V C 10.8V A
14.4V D 13.2V B
For the junction shown in the figure, which equation does OF Teeue S0 s Y (3l dolaall b L (JSaJL s gall w,n
not correctly expresses the sum of the currents? s _ff SO 08 fgazes
i1 —ip—i3—iy4=0 C —iy +ip—izg—iy4 =0 A
i1 —ip+izg+iyg=0 D i1 +iz+ig=1i, B

Teacher: Omar Alkhatib \ 050 38 333 27
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'_-'.I:L's.im

W]uch of the circuits shown in the figure will function Trome S Jod K& § donisgall _,.rl_g..\.l I
properly? ’
M’a}‘t
® ® ©
.'I\J_\ R, f\'_.
A~ — AAA~— —— AN
04 B 0 0 BB o 0 B o
s - il
Vemi Ve Vem
2 Lid 1and2
2 Only C A
1 Lid land3
1 Only D B
EMEE [‘Elrh."_d_'“.al‘?;T
= 10 ]
Which two circuits are exactly equivalent? Slaled (pirdine JS2JI S oPls e &

1 | | | I !
§ =, 2% s - . =
R, 2 \ 3 g R § R ; R §
110V —— l P 110V—— { 110V ——— _ —T
- . P .
R % % : R %
] _
A B C
07 Nz
1oV —— 1 11@V T 777, ]
| | ]
D E
CandD C AandB A
BandE D BandC B

Teacher: Omar Alkhatib \ 050 38 333 27
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Gli.\.i..a

SR
11 B
B daie ologil 3 0Bl JKEJI § (a) dakd] wis ol ol
determine the direction of the magnetic field intensity o ‘f S b liaall Jloxall
vector? i
1 2
4 a :
3
N =3
[ C ’ A
‘ D 2 B
hi 12 e
Based on the figure below, what is the magnitude and & 85330d1 duuunboliall B9l olaxily yluie Lo colisl JKEII Jeo Tolexe!
direction of the magnetic force acting on the proton? "'Wf SOgig I
Pre .:J' v =4.0x10" " m/s
3.2x 102 N, Down C 3.2x10712 N, up A
3.2 x 10712 N, Out of Page D 3.2 x 10712 N , Into Page B

Teacher: Omar Alkhatib \ 050 38 333 27
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7|L\.i..a

o

13

A coil is composed of circular loops of radius ¥ = 5.13 cm
and has N =47 windings. A current, i = 1.27 A, flows
through the coil, which is inside a homogeneous magnetic’

on the coil due to the magnetic field?

field of magnitude 0.911 T. What is the maximum torque

[
N= 4?3r-513¢muﬂumm_y1;uhhwg_d.au_,su
é uhling Jlae (8 aumgall Galdll je =127 A WS 80 Adl
0.911 To e alaiia
¢ sl Jlaall dauls Gl & i a0 oacdl La

0.148 Nm

0.622 Nm

C

0.350 Nm

0.450 Nm

D

a 14 e
Tl i
In the following Biot-Savart law formula, which of the _ Dl paie Jias Jui &l e AIWI 5Bl 0 093 &u.,a ‘3
following represents the current element? L F Ko idsxt
gl ids x ”’Z dB—;;T’X e
dB = 5
4}{ r o
0. dB A
4n c
ids x 7 ids

i

14"

An electron moves in a straight line at a speed of
(5.0 x 10° m/s). What is the magnitude of the
magnetic field created by the moving electron at a
distance (d = 5.0 m) ahead of it on its line of motion?

.

L¢(5.0x10° M/S)aﬂﬁﬁ&mhééogﬂl_lﬁ
ddlus e O ASIVI dSy> (e W (qunbolidnall Jlomall Hlide
Sy s (po( d = 5.0 mi)

e—

1.1x10°2T

1.1x107'8 T

C

40x10°8 T

oT

D

15

A l;mg straight wire carries a current of 15 A. What is
the magnitude of the magnetic field at a point 5 cm
perpendicular to the wire?

"

ol
. Jhdi)th((]SA)deSthMdﬁbW;ﬂm
cwl&(Scmlﬂa}&MWMMMMWI

600 nT

60T

A

600T

C
D 60 uT B

Teacher: Omar Alkhatib \ 050 38 333 27

(12 Advanced) DEMO TEST-2"¢ TERM.



(12 Advanced)
DEMO TEST-2"4 TERM.

8|;t.\.iu=

214 Part. PAPER PART-5 Questions

E%E
ot
E5

" E ..

Two groups of Advanced Twelfth Grade students at Lehanon
First School - Al Ain conducted two separate experiments to

verify the validity of Ohm's Law (R = g)
The first group used: a constant voltage (DC) source whose
intensity can be changed, a lamp, negligible resistance connecting
wires, a voltmeter, and an ammeter.

The second group used: a constant voltage source (DC) whose
intensity can be changed, a carbon resistor, negligible connecting
wires, a voltmeter, and an ammeter.

The results were as shown in Tables (A) and (B) below.

= dadl ol duyie (3 puiizall e QW1 Cuall b (e Ol goee Caald
.(R = g) 29 036 douo (o USTRl pibaitio oy syl o canl
A i Sea(DC) seiuws dg> (3y0 Hduas ng;h'l Ac gazeall Cadsiuwl
sl pelieg fuatlsh (ulaag deglaall dlage Juosi HMuls Zluasy

5dd a5 3Sas(DC) et dg (Byd jduae (A0 de gazeall Coadsuiuly
Ausl eliiag Anoilgd (selaiieg degliall dlage (o gi HMuly A39a)S daslieg
oLl (B) 9 (A) cdgadl 3 Togs 9o hS@l:qu iy

A B
i (mA) AV (V) i (mA) AV (V)
0.0 0.0 0.0 0.0
38 10.0 7.8 10.0
8.2 20.0 12.0 20.0
12.0 30.0 15.2 30.0
16.1 40.0 15.8 40.0

A What results did each group get?

fdsgarme JS lguls clias gl s A

The first group.....&d it ko tod v bl oo ot dvondpuadidi o d oo dodiclocd ool sy dlocaoisssanunes J9Vl de gazeall
T 8 T o L it 14Ul de gasxall

B Draw on the grid below the best graph for the results
obtained by the second group , and calculate the
amount of resistance they used.

lgale Clia> ) gtl) Glo Jas Jyadl olsl dSkidl e syl B
Agradsial (A1 doglial! jlude g Aol de gasxall

i (mA)

AV (V)

Teacher: Omar Alkhatib \ 050 38 333 27
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o 17

According to the electrical circuit in 50.0 £2 100 5! 3 230,801 B3I e Toleas! |
the figure: ‘ v ‘ vy
]
600V —=— 10.0 02 \LLA ? 00
T 30.0 {12
A Calculate the current flowing in (50 (). (50 0) pslaall § @auall Hhall sl A
B Calculate the potential difference across (40 (1). (40 Q) palaall pe a2l 358 ) B

rod rests on two parallel rails that are Loginy ddlunall (il gt (S (A @L‘ajgis_,s
d = 12.0 cm apart. The rod carries a current of 54 LS @ldl Jese . d = 12.0 cm
;z ;B. 0 A (in th_e ?ﬁTgti?11 Show)ci F— Jlxall (Zuosallolxidl 3) § = 48.0 4

uniform magnetic field of magnitude 0. v tnl sl st Sl sl S ; £ T ol 2
is directed perpendicular to the rod and the rails. Z"/ 3 T K 4290 0.240 ;S:\TJ?LT ﬁw
What is the magnitude and direction of the /'f_:- < e 8,350l mw1 B;ﬂl sl ﬂ@f
magnetic force acting on the rod? - . 4 ' S oLl

Teacher: Omar Alkhatib \ 050 38 333 27
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i = r..f@
19 A
The ammeter shown in figure reads 2.00 A Jsall (A yiaY) el B
2.00 A. 7.00 Q 150V o
| S Vsl sh (e Jsdat L
What is the value of I, I;,and V ? Wr ' e
1
| 5000
' My A
] T ,;.ﬁ
2.00 ¢ Vor
M }

Teacher: Omar Alkhatib \ 050 38 333 27
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e 20
IS
The magnitude of the magnetic force on a ) (—e) Adind avin A5 el Apslaliaal 5 g8l laia
particle with charge (—e) = S % (vﬂ — 1.0 x 10° m/S) de yuw d jalg
moving with speed (vo =1.0 x 10° m/s) . ‘(3.0 x 10~8 N) &
is (3.0>< 1078 N). D © €
A Determine on the figure the direction of the magnetic dlase) encell (§ By3 g0l duuadolidall B9l oloxs) JK&I (Je du> A
force acting on the particle at the moment it enters the oMl Jsadl ,3 dboliaad! Jlxall dl g0
magnetic field in the figure above. i
B Calculate the magnitude of the magnetic field. qu.g«bl&l.ajl Jlxall Hlide cows B
C If you know that the mass of the particle is(1.35 x 10727 kg) (1.35 X 10727 kg) paswe)l AsS Ol Cuale 13 C
e Draw in the figure above the shape of the circular SHIWI uancmd! Hluse S odel SLadl s payl e
trajectory of the particle after it enters the magnetic .lé\..ebui.di Jlxall dlgso day
field. B)luwe ylad Layad o>l
e Calculate the radius of its path.
D Describe what happens to the particle's trajectory if we double Bl daclian Led 13] ! jlued Gruon 13k Liue D
the magnetic field strength. «gubolidall Jloxall

To undenstand physics, it takes some madness.
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